IO — 1% Semester EN — B1 (10/01/2018) solution topics

1.a) Optimal value of the decision variables: x4, = 1; x5 = 1; xp = 3. Daily, the food for the animals
should include one tone of each forage (A e B) and the pasture time should be 3 hours.

1.b) Dual decision variables: y; = 1,5 — each extra unit of nutrient 1 required will increase the
minimum daily cost of feeding the animals by that amount, while the optimal basis is kept.
vy, = 0,5 - each extra unit of nutrient 2 required will increase the minimum daily cost of feeding
the animals by that amount, while the optimal basis is kept. y; = —1 — each hour of pasture
that will be available will decrease by one m.u. the minimum daily cost of feeding the animals,
while the optimal basis is kept.
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